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PHET.
1, 450, 680
Bhtes — FRRE L
11 = 1, 450, 680
BN E
EET
1 = 1, 450, 680
s s 188, 000
11 = 188, 000
Hm ety (K3 1) ((1, 450,680 * 12.96 / 100) — 0)
N == * 1
1 = 188, 000
i T 1, 450, 680 + 188, 000
1 = 1, 638, 680
B PRE (1,638,680 * 47.4 / 100) * 1
11 =& 776, 000
THJFA 1,638,680 + 776, 000
11 =& 2,414, 680




AR FEHNRE
L d= I il FHBI - KA ¥ = = <7iva il 4 % fi =
e e (((((((2,414,680 * (23.57 + 0 +
L e 0) / 100) + 965.872)))) * 1) -
= 569, 320 785) * 1
TSI 2,984, 000 * 1
= 2,984, 000
TR 4 %H 2,984,000 * 10 / 100
= 298, 400
SRR (f(((2,984,000 + 298, 400))))) *
= 3, 282, 400




